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INSTRUCTIONS RRB Rk
(Please read carefully and comply) ( S5k )

1. Kindly read the complete set of instructions carefully and also see the instructions on the back side
of the OMR Answer Sheet and fill the details in the OMR Answer Sheet and Question Booklet

2. One paragraph each Hindi and English is given on Page 1. C opying of the paragraph in the space
provided in the OMR Answer sheet (i the language as filled in the application form either in
Hindi or English) in your runming hand is compulsory DO NOT USE BLOCK LETTERS.

3. (@) Question Booklet Senal No. must clearly be written and marked m the bubbles mn the space
provided in the OMR Answer Sheet.
(b) OMR Sheet No. should be written in the space provided in the Question Booklet

4 After being mstructed to open the Booklet, the candidates will open the seals It is the
responsibility of the candidate to check and ensure that the booklet contans 150 questions and start

the paper from page no. 10.

5. The question paper compnses 150 questions and are available n congruent versions of English,
Hindi, Urdu, Bengali, Odia, and Punjabi languages. In case of any doubt or confusion, English
version shall prevail.

&AﬂQ\nstimsmothiemvuype.M is only one correct answer to each question carrying
one mark. There will be negative marking for wrong answers. For every wrong answer, % mark
will be deducted.

7 In the event of any mistake in any questiorvs, candidates will not be penalized. However no
corrections will be made in question/s during the examination.

" 8 You must use Blue or Black ball-point pen anly for answering. Altering of answers once entered is
 pot permissible. Enter the answers in the Answer Sheet carefully.

" 9. Rough work, if a Mb‘m‘ h,ﬂ'Mm Booklet mlyinmqspmq-;mﬂM‘Nﬁw'
10 Use o Log ablen, Caluaor, Side e, Mol phons, Pager, DIge ey or s et
" electronic item/instrument etc. is not allowe Thcﬁ'\mwm mll;mﬂmuliﬁanm, o, ol
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(A) oxygen gas is evolved

() hydrogen gas is evolved ga |
3. Two bus tickets from city A to B and three tickets m mﬁ:ﬁ?‘z:&mﬁ(

ﬁmcityAtoBmdtwuticketsﬁ'omﬁt!AwCeoﬂ’ﬁ-’
(A)Rs 13 B)Rs23 ccmls | Mﬂ'”

A. A black body is a
(A) good absorber, good emitter
AC) good absorber, bad emitter

A 10500020 x8dx10", f s
‘ 0.001x0.01 + v ' T i |

(A)40 (B0 ,m‘
/mmmwmoummm
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Qm Orthographie projection is a form of

i - (A) angular projection (B) paralle! projection
~ (C) skewed projection (D) magnified projection
- M. The survey where the curvature of the earth is taken into account, is called
(A) Plane surveying (B) Curvature surveying
(C/.) Geodetic surveying (D) Scale surveying
. John's age exceeds that of Rakesh by 6 years. 10 years ago, the ratio of their ages was 5:4 Find
the present age of John.
}A)‘wyun (B)}Bym (C) 50 years (D) 48 years
13. The 5 term of an AP is lSmdthe‘)‘termmZ} Find the 14" term
(A) 27 (B) 37 (C) 35

4. A p-n junction diode allows electrons to flow

_{A) from the N-type side to the P-type side.
~ (B) from the P-type side to the N-type side.
 (C) from any side 1o any side. |
' (D)ﬁrnﬁwﬂn?-@wnﬁhhmlﬁ.ﬂmﬁomN-typcsxdcmﬂnP-typesldc.

‘f;‘ Audmmmwmmﬂpbuchwofmuxmﬂmmﬂed

A) thin w {B) operational circuit
;E)) nzpldcﬁmn | {D) small plate circut
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2 ;mhhbhﬂc

 The blood has cells, which circulate around s
bckxlhebloodnlhcpomtsofﬁ‘juy_ e body and plug the leaks by helpmg

(A)red blood gm white blood (C) clot (D) platelet

26. Choose the correct option:
In amplifier
(A) the input circuit is forward-biased and output circuit is reverse-biased.
(B) the output circuit is forward-biased and input circuit is reverse-biased
(C) both input and output circuits are forward-biased.
(D) both input and output circuits are reverse-biased.

-/27. If the shielding gases used are not effective during welding, this may lead to

¢ porosity (B) undercutting  (C) cracks _(P slag mnclusion
_}- mof&efunuwmﬁndunhmmmmglmgmge which 1s not a high-level
 programming language
e Famkmmm‘f‘u-lm
@) Machinccode (B) Java (C) Visual Basic (D) Fortran

;:»mﬁﬁwnimmnnmmmmwmm
(B) matertal of the wire :
(D) length of the wire
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13 Area wise, the biggest state of India is (D) .. L

(A)Rajasthan  (B) Uttar Pradesh (C) Maharashtra f #&W%mh" ‘:‘ 2

34 The number of boys in a class is exactly three nm;?mn“mb:n;edm? e
following numbers can not represent the total number 0 Idren ]

(©) 44 17> S

(A) 52 (B) 40 : A ";“;3 x 3
35 As per Boolean Algebra, '
XxANDy=7 ifx=0,y=> 1
(A)1 B0 ()2 _
36 Which one 1s the best conductor of heat {out of the fbﬂoﬂﬂl)?
Lead. lron, Copper, Wood

(A) wood wle ‘P copper
37 Which of the following instruments is used o mw N
(A) Geodimeter (B) Sextant (©) mm

38, (969-326) +(9.69-326)" HARE
969" +326° Ay

(A)2 (B)2.16 Q260

3. Generally concretc has
(A)wwwmmvemmmm T
45 high compressive strength, but lower tensile st
(C)oqmlcomprmvemdtauﬂowa
(D)msﬂcnrenﬁhnchhldm ! o

m:gmmdcof indanad n

'l'ﬁld:ovchwh ; 5
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A1 Pointing to 4 gentleman, Arun said to his friend, “His only brother s the father of my 3
father”. How is the gentleman related to Arun?

JA) Father (B) Grandfather (C) Uncle (D) Brother-mn-law
- 2. A man running with a speed of 18 km/hour crosses a train of length 280 metres, running in the J

opposite direction in 20 seconds. What is the speed of the train” ' A
{A)9 ms (B) 10 m/s (C) 12 m/s (D) 15 m/s \f"'u.:
A3, The main thinking part of the brain 1s the 3
' (A) fore-brain (B) mid-brain Y
(€Y hind-brain (D) complete brain with all the three major parts ’i ;
: ? . Ve ;
34 Working stress 1s always f\ o
SAT Jess than ultimate stress (B) equal to ultimate stress
(C)mm than ultimate stress (D) double the ultimate siress
el Find out the statement which is False

(A) E-mail is a method of exchanging digital messages.

{@) the red blood cells
(D) water present in blood

and 12 em. Find the area of the Rhombs
i el (D)wcm’

égmm
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}«wmm«:mmm
" {AVtree and bush debris O i
 §©) fenilizers ok (D) petroleum hydrocarbon
< S1. In the next 34 ywt.'ﬂw"UnimBudgﬂ'ZOH-IS of India, aims for sustained growth of
(A) 3-4 percent (B)HW
(C) 7-8 percent () 9-10 percent
52. By selling an article for Rs 360, Iosximmdin {0%. At what minimum price should the art. |«
be sold to avoid loss?

& (ARs 380 (B) Rs 400 (C)Rs 410 (D) Rs 430 «
53. Find out the option which is nof correct | Iy
) In actual transformers, energy losses occur due to the following reasons _}g/,’( qﬁ"’;

\@‘ (A) flux leakage (B) resistance of the windings x° :/OX//

},/’t’\fb
>

54. Raju goes to Sitapur from Rampur at « speed of 40 km/hour and returns with a speed of 60
3 mMWuthuwﬁmhﬂm
-74 (A) S5 kmhour  (B) 50 kmvhour (Qum - (D) 45 kmv/hour

thmmm@n,

pef low cutting speeds and low-rake angles. ¥
(B low cutin speeds snd high e angles. L
(€ high cuting spoeds and low rake ngles it
ﬁmwmmwwmm
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58. A computer program which anaches itself and becomes part of another executable progrem ssd
thus halts the system by leading to some undesired result, i1s known as

(A) ‘Computer halter’ (B) ‘Computer virus’
(C) *Computer processor’ (D) *Computer firmware’
39 *Microsoft Excel’ is a
(&) spreadsheet program (B) presentation program
(C) personal information manager (D) word processor
50: Fill in the blank:
The is a system of iterlinked hypertext documents that are accessed via the intemet.
}A) hyperlink (B) web page (C') web browser (D) world wide web
6. Linuxisa
o (A) computer hardware {B) proxy server
/4 (C) type of computer networking (D) computer operating system

62. The hardware within a computer that camics out the instructions of a computer program and
pminfamﬁmnddnﬂwiﬂdmghmmdwm.nscalled

(A) Central Logic Unit (1) Memary Unit
{C) Central Processing Unnt (D) Input Unit
63. 1f 120 is 20% of a number, then 120% of that number will be
(A0 (B) 400 (C) 600 (D) 720

 (A)041006 gamen’ (B) 0.6 10.0.9 grams/cm’
o SO AN (D) 2,010 2.5 grams/em’
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) Sl IR | (B) less than dynamic friction A
, _ ARy Y : fnction
) greste than dyamic FCCT (D) lessthan or greater than dynamic
(C) m] Y dynm“c ﬁ‘ sm mw ,ig\al Lhiu < JIt _

i I, in:
68. In telecommunication, the process of conveying a message signal, I
& physically transmitted is known as R £ 4
A\ amplification  (B) modulation (C) rectification conducti

i tively Then
09'Thclmgthnndbtudrhohrectmguhl‘plotminaeudbyWandSO%N’P“" |
S mcnewuuishowmanyﬁmulhemgimllm?

WD
. ——
/10 mﬂ\‘ﬂﬁm(&@)msummofﬁwlﬂmmmdAh’hmi:;nvema
) (A)Haridwar @B)Rishikesh (C) Allahabad (D) Devpra
L In submerged arc welding (SAW), the consumable clectrode is 8
Y 4A) coil of flux coated wire mmmm
37 (0 coil o plastic coated wire costd o
! i gotto Sy
" 72 Canberra is the capital of 5
[ (Argemina  (B) Angola (C) Ausiria i
73. Who among the following is the author of novel “The Lo
(A) Anita Desai (B) Thump Lairi
(C) Arundati Roy (D) Shashi Deshpande
74, Who among the following founded the Benaras Hindu University in Varanasi |

~_B) Madan Mohan Malaviya
(o) Mot Nebru
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7 Galvanisation is a method of protecung steel and iron from rusting, by costing them with 4

layer of
{ A) tin (B) zinc (C) aluminium (D) paint

78. For measuring detonating characteristic of any fuel on Octane Number Scale. Iso-octane 1
rated as

M. L(A) 100 (B) 90 (€)75 (D) 50

’t-

79 Working together, A and B can do a work in 10 days A alone can do the same work working
alone in 15 days. In how many days, B alone can do the whole work working alone”

(A) 18 days (B) 20 days (C) 25 days (D) 30 days
50 Two trains of length 200 metres and 220 metres are nunming on parallel tracks in the same

direction. Speed of first train is 72 km/hour and speed of second train 1s 54 km/hour  What 18
the time taken by both the trains to cross each other

{A) 70 seconds (B) 76 seconds {C) &0 seconds (D) 84 seconds
8L A wire of a given material having tength L and arca of cross-section &hasarcsxsmnceof:z
’ dmt%hwouldbcthemﬂ’m-mnfm“nxmamalhavmglengm and
area of cross-section ZAT ‘;l) ?Iﬂﬁ = A%;

e o ¢y | ohm (D) 8 ohm
e (M) 4 ohm (B) 3 ohm )

E casting g process, al of
82. In metal umllupaupvvﬂvdmwﬂ-mldpmemmmbkremov
t:cpumwmmmmnmumemmduuud ;

(A) parting (B) draft (C) angular allowance (D) inclination

Ll phmlmmﬂlv“"““‘f
i ﬂ“mmlumlﬂqu (D) silyer. -

bV
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July 31, 2015
- 8
B hﬂhmmczmhu iy
£ s boaite _ (Bjﬁamlembondu
‘37‘ l.'lm (D) 8 covalent bonds
/'7 Rutofdnb;mtlclﬂd ~
(C) force (D) momentum

(A)energy ~ {BYpower
88, Concwrmlfomum&mnhmlwhwhmnfm

(A) lic on the same line (B) meet on the same plane
(€ meet at one point ‘ (D)lbmdrﬂauuplm
39 The rate at which the Reserve Bank of India lends short-term money 1o the banks, is known as
(A) Repo rate '(Bﬂlwwkzpomz :
(C) Liquidity rete (n)mwmm
90. MMNWWMMWMNWIM!BW!M
process, this recovery is known as
{A) spriog back (B) spring effiect (D) radius loss
9. xm.hueh-wm hmmwm %
(AjKeals  ~  (B) Tumilnedy (C) Manipur ) Odisha
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"

iﬂ"*lﬁunfnnnpaﬁ-ﬁ«mdB:sl:,hndmuoofmowmdc is 3b Wivat 18 thve ratios of age of

A Band C?

(A)3:4:5 B)6:15:18 (O)6:15:20 (M6 15 23
)V Which scientist was awarded with ‘Bharat Rana’ in the year 20147

(A) Prof. Padmanabhan Balaram (B) Prof, Jyeshtharaj Joshi

‘9) Prof CN.R. Rao (D) Prof. Anisuzzaman

/9' Choose the most reactive metal (as per the Reactivity Series) out of the followng.
Potassium, Aluminium, Magnesium, Iron, Copper

(A) Potassium (Bylron (C) Magnesium (D) Aluminium
59 Amofmmymomutomz(mmSyem.andtoRslooommmtwoyursnsimplc
interest. What is the rate of interest? }
(A) 10% {B) 12% (C) $% (D) 7%
":';m‘ﬁl!ﬂnvﬂitoh,iflogh-hgﬁtlogi2 e
A ®)2) ©n

mmdmmmmﬁmmmm ) L
>m)15ymdaw Mmﬂ-ﬂ (€)M yoarsofage (D) 40 years ol age

the image formed is
o m“M“oﬂlmm
;ﬂm unobpuwm O i e

'.Feé

R v Y
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'{;‘5 e |
t re would eoclose 30 FE of 484 square cm, itit ‘;as bent i the st
g Bplon ifa <76 find the radius of the circic :

If it was bent B (C)21 em s i8

(?Jucm (B) 18 cm

| upto the height of 20 cm Then, a golxd cube of 10

| ! wilbiss ter. If the dimensions
107, Water is filled up in & rectangu o vesse] containing Waler ‘ |
| e R ' g In W
- ux}mmmme%};: :d 20 ¢cm respectivcly (from inside), what 15 the 1
the base of the | are
level? 2
= ¢m
(A) S em ®) 3 (C)3em (D) 3
JO8. Out of the following, which 1s nof @ intrinsic semiconductor?
Tellunum, Carbon, Silicon, Germanium 5. ¥
{A) Germamum  (B) Sithcon },(t) Tellurum Carbon

‘ med 15 10 less
109 Anumbcnsdecms:‘dby|%MMMW!M.monumbcrsoohamedm ¢
than the ongmal number What was the original number?

{A) 1000 (B) 1200 (C) 1500 (D) 1800
410. cmmmmwmmmhmwjmmwm

JA) structural isobars mhmmlm

(C) structural 1sotope (D)mhm
(l’ll, Action and reaction (forces) always a6t o

(A) differcnt bodies

‘(éB)dr.umcbody_ .

(C) may act on the same body or different bodies

(D) a third body ' P
lﬁ; Which of the following

(Aymain
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= O I

In human bengs, the food coming from the stomach is made _ by bile juce, for the

pancreatic enzymes to act.
(A) neutral (Byacidic (C) alkaline (D) salty

N

- 115. Find out the False statement.
25 Compared to Brushed DC Motor, Brushless DC Motor has following advantage:
%

(A) long lifespan  (B) low initial cost  (C) low matntenance (D7 high efficiency

- M6 Work done in a free expansion process is
¥ (A) positive (B) negative (C) maximum D) zero

L
¥2

F o

 ‘ , Jf 7. Which of the following 15 mos used as dopant for obtaining a P-type extrinsic semiconductor

~ from a pure semiconductor?
¢ Indium, Boron, Phosphorus, Aluminmm
(A) Indium {B) Boron (C) Phosphorus (D) Aluminium
(D) curcle
m Which statement is correct about PERT (Program Evaluation Review Technique) and CPM

| Crit M . . i
B (A) Both are probabilistic.
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u vl " ] Vm Sia
- main scale division and o
n hleuerCﬂliper ﬂxdxﬂ“mx:cebetmﬂme | |
® i 'q“.‘l . ; error (D) Zero comrection
(]) mh ljB) Least count (C) Zero
123. Use of Chlorofluorocarbons has mdmgered(t:;:m e
) ground water level
;(AZ)) ozone layer (D) oxygen Jevel in atmosphere
ith ani i the
Wﬁy large ecological areas on the carth’s curface, with animals and plants adapting to
environment, are called i
(A)food chan  (B) biome (C) food web (D) habitat
125. The great Mughal Emperor Akbar was succeeded as emperor by his Sof
(A)Humayn (B Jahangr (C) Shah Jaban (D) Aurangzeb
126. Mﬁewm mﬂu in the series
(C) 48 (D) 63

, i which individusls and private firms make the major decision:
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: m (e Pascal of pressure is equal to
o yl‘ﬂ Wﬂﬂ: (B) 1 newton/metre’  (C) 10 newtonmetre” (D) 100 newtan/metre’

i }3‘5 If an electric current | is flowing through a resistor of resistance R, the amount of heat produced
¥ H intime 1 is

E

(A) IRf* (B) IR% ) 'Rt (D) IR

134, Fill in the blank: -
| The State of Assam is surrounded by neighbouring Indian States

(A) six B) five (C) eight (D) seven
: ),,.35 How the large scale properties of solid materials result from their atomic-scale properues. 1s
- 7 studied in
(&) metallurgy (B) liquid-state physics
(C) solid-state physics (D) crystal physics
. Fill in the blank |
“hnACmm,&cuuofmuﬁmd!htcoﬂis to the direction of the magnetic
{A) pnnel Bipepmbicalr  (Olociasd () (D) inalined (457
s LSsue nmhmm from one part of the body to apother via
g (B mechanical ymipulses

(A)nlll waves

W mu m dml impulses

'\} .

)}
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¥ Jﬂ hw projection, the angles between any two of the coordinate (‘;“3:' |
(3190 degres (8)120 degrees (C) 45 degrees D) 30 degrees

W/ Arun sold a table to Mohan at l(ﬂipggﬁ&. Mohan sold it to Raju at 20% profit If Raju bough

r«mmmmmnw& Arun bought the table? E
(A)Rs400  (B)Rs4S0 () Rs 500 (D)
2", ‘bag’ i called ‘pillow’ and “pillow” is callc.

’”',144 If ‘book” is called *watch’, ‘watch’ is called
b, ‘window’; wmnmdmmmew

Qg{(ﬂ) pillow (B) bag  (€) book (D) watch

: {Hehmry mmumﬂtwmwﬁlmoflw
; blmscq:;mbmmlmmhlwmm mhumm

A46. The ST Unit of power of 8 lens is GG . i

(A) June 2013 (l) s-m:ms (Q ‘

m- AmdﬂthQMQM¢.
M“‘““““"‘thi
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